EARAROBEEIERT — 2 N— IBISH —F 201551281 (X) 0EEHIA

m C1 #¥5%3®L (xwlw | mEmml - |5 ) o
[A&E4£] 17 :400,000  ~ 2 3#&:100,000  ~ 3#&:48,000  ~ 43#&:32,0008™ . 5 3&:20,000 ™
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
) . AT 90, _1_o_ . - fEiERER (EE)
: o| 21 —770- 4| Bk 1(2_0)6 2-1-2-1 | 39.6 6 422? et
RHIRT4ISZ BZRCEQL—Ta eK A
L x £ 3 | AtifE 1:20.9 12-12-1-1 | 39.6 | — 1 433 | EElII¥EE (EB)
2|7(9 XX - 56.0 ©) (1) (E)EE)L77—L\
L:Ayav4ay B:7RO7Av 7 TS e]
—3 = i o6 | BHEE 1:21.2 10-11-9-4 | 39.4 | — 2 492 | BREIRGA (EMR)
3lgl11|7¥VEILT—% 56.0 (1 1/2) (g | TR
LHIINT A~ BRI —Z by T HET7— L
UL 4 6 | AAXK 1:21.3 6-6-3-3 |40.0| — 8 485 | EBAIE (EMA)
417110 7— F8=2 56.0 (1/2) 4o | BIIEA
R:GZAHNAZXH B:RK78—-57 =RWE
— e B4 | KEAER 1:21.3 11-9-11-8 | 39.6 | — 5 457 | =FSTTHL (k)
5/5/5| 7~ FBAY 0 (7E) (s | B
R:yA7F BELALY-L 4
o no RKIIEE 21, —-7-10— . — WHELE (EHE
6 g [ /¥y —F i 6 2l (172;73) 8-7-10-7 | 39.7 4 (4_576) ﬁﬁzﬁ
R:TAIVKTy a2 B:Z¥F~wTalvy Lot
4 3 | EEHNER 1:21.5 7-8-7-6 [39.9| — 7 493 | RFI=(E (EMR)
7 4| BV T 0 (1 1/4) (3) | BT
A TAT v — By Fx-—I7tl =H =BB
8 o JNRE— : —4-5- — AR (FEHH)
gl11|[NFxFa-Uv7 i 4 o 1(/3;;5 4-4-5-5 | 40.2 3 ;1:326) KR
R:FALNTyFIE B:FTIA XTI b AFO B
N = - EBR 122, -9-12- . — WEEF (BME)
98|12 ¥ >TAHXT i 1(252)4 M ’ f_zf; HEEH
LY RT T B:OxZ F]sbaecd
. B4 | HZEEX 1:22.6 5-5-8-10 | 41.2 | — 12 | 489 |#FHREX (EH)
10(5/6| 17X 77 1> 54.0 (1 1/4) @) | 0 s<sa-—RL—va>
Z:Nd BavxT4—741 =2 PN
= — s . MARFER : -2-6- - LHRZER (EMA
11 gl 77 VH T i 3 s 1.(2{3.9 1-2-6-11 | 42.8 1 ::;) P,
RN Ny THY BTN - ek
= P # 5 | TIRES 1:23.9 3-3-4-9 |42.7| — 10 459 | BT (FEH)
12 712774 +h 54.0 (74%) (o) | IS
B4 TATv— BEIUHFXNZIT—ILK R&I4%
@ 1—F—@&BIEf
13=zr= 8,2,7,1,6,10,4,3,12,11,5,9
Aol=5r= 2,8,7,1,6,10,3,4,(5,12),11,9
G§a=7r= 9,2,10,7,1,8,4,6,11,3,5,12
43—F— (2,9),10,11,1,4,3,5,7,6,8,12
[ RN
B OB 2 1,610M 714K 2-9 660M e & 2-7 1,770M &R 2-9-11 2,310
8 B 2 310M 2-11 880M B E 2-9 1,890 JEH 2-9-11 23,670
9 130M4 9-11 230M B H 2-9 5,110
1" 220M

ABICOVWTRDTEEERROODE. TR LIV,




